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QUESTION 1

How can NSX-T Distributed Firewall help customers achieve security for newly migrated containerized applications?
A. Quality of service

B. Micro-segmentation

C. Dynamic routing

D. Network 1/O control

Correct Answer: B

Reference: https://blogs.vmware.com/networkvirtualization/2020/04/nsx-t-3-0.html/

QUESTION 2

A software developer has recently deployed two web servers that need to communicate with each other to exchange
information. A junior network administrator has been asked to connect these two virtual machines to an already existing
segment in NSX called Web-Segment and verify that communication between these two VMs is possible. The two web
servers are running in a vSphere environment managed by vCenter Server.

Which two steps need to be performed to complete this task? (Choose two.)

A. Connect the VMs to the segment from the NSX Ul

B. Use the traced command to check connectivity between VMs

C. Connect the VMs to the segment from inside the Guest OS

D. Use the ping command to check connectivity between VMs

E. Connect the VMs to the segment from the vSphere Client

Correct Answer:. AD

QUESTION 3

What can a service provider achieve for customers with the aid of NSX-T Tier-0 and Tier-1 Gateways?
A. Quality of service

B. Multi-tenancy

C. High availability

D. Micro-segmentation
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Correct Answer: D

QUESTION 4

A customer is implementing a proof of concept for vSphere and wants to enable features such as HA, vMotion and
DRS. Which component is required to enable these features?

A. vCenter Server

B. vSphere Client

C. SAN Storage

D. Distributed Switch
Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/vsphere-esxi-vcenter-server-601-resource-management-
guide.pdf

QUESTION 5

Which plane is responsible for creating and deleting network objects in the NSX-T Data Center Architecture?
A. Control Plane

B. Data Plane

C. Life Cycle Plane

D. Management Plane

Correct Answer: D
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